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Zugkpku Ulqitpkl (mubpku
dwybplnyp surface IIOBEPXHOCTb
hpphn rocket pakeTa
wpwgnipnii speed/velocity CKOpOCTb
htnunpnipnit distance paccrosiHue
wpwuqugnid acceleration yCKOpeHue
quugqué mass Macca
huinnipnil density TLJIOTHOCTD
Ynniuly crane KpaH
hgnpnipniu power MOIIHOCTB
ninnuhuwjug vertical BepPTHUKAJIBHBIN
nwpuw container KOHTelHep

Qugh dwnwujupupnid Gas supply ITocraBka rasa
utinhly mercury PTyTh
Upunnpuughtt Lupnid Atmospheric pressure AtmocdepHOe maBieHne
hwdwjunipnil frequency JacTora
wuwnltp image u3obpaxeHue
hwjwpnn nuyyuly Convex lens Bermyxstas muH3a
nhuwnpnipmil resistance COIIPOTUBJIEHUE
hnuwtp current TOK

Juybwlut transverse TIOTIEPEeYHBIH
Epjuytwlui longitudinal IIPOJOJIBHBIIH
Ujhph tpupnipini wavelength JJIMHA BOJTHBL
Nidh Undkuwn torque MoMmeHT crist
Upmynitwpwp nid Resultant force CyMMapHas Cuia
wnbuwljupup ohpunipniu specific heat yAenbHAA TEIIOEMKOCT
hwonpnuljute In series ITocmemoBaTebHO
qniquhtn parallel TapasIebHo

12




